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[J SQL> conn scott/tiger SQL> set serveroutput on size 1000000
SQL>SQL>DECLARE 2t cl tname

user_tables.table name%TYPE. 3t_command varchar2(200). 4

t cid integer. 5t_total _records number(10). 6 stat integer. 7
row_countinteger. 8t_limitinteger :=0.--0 0000 OO0OOO
O OO 00O 9cursor clis Oselect table_name from user_tables
order by table name.--0 0 0 O 0O 0O OO 10BEGIN 11t limit:=
0.12 opencl. 13 loop 14 fetchclintot ¢l tname.--00 0 0O 0O O O
15 exitwhen c1%NOTFOUND. --OU 0 0 O0O0O0O00OOO
16 t command := SELECT COUNT(0) FROM ||t_c1_tname. --[]
0 SQLO O 17t cid :=DBMS_SQL.OPEN_CURSOR. --00 00 O
000 18
DBMS_SQL.PARSE(t cid,t command,dbms_sqgl.native). --11 O [
Oo00o00odoooooooooooooOoo 19
DBMS_SQL.DEFINE_COLUMN(t_cid,1,t_total records).--00 [
OO0FetchRowsQU O O OO OUOOUOOUOOOOOOO 20
stat := DBMS_SQL.EXECUTE(t cid).--0 00 00O0OO0OOOO
Do000000o00o0dretch Rows OO OO o000
1 21 row_count:= DBMS SQL.FETCH_ROWS(t _cid).--00 O O
Odo0o0ooooOoo 22



DBMS SQL.COLUMN_VALUE(t cid,1,t total records). --01 [
OO0FetchRowsQU O OO OO UOOUOOOOOOn

[Jt total recordsl] 23ift total records>t_limitthen 24

DBMS OUTPUT.PUT_LINE(rpad(t_cl _tname,55,)]| 25
to_char(t_total records,99999999)|| record(s)). 26 27 end if. 28
DBMS_SQL.CLOSE_CURSOR(t_cid). 29 end loop. 30 close c1. 31
END. 32/ DEPT 4 record(s) EMP 14 record(s) SALGRADE 5
record(s) PL/SQLO 0 OO OOOO 100Test U O OO O OO
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